A2
A AL AT R OR R

1 AR THFEOLT DR LT A 35 55 1 49 < B2l KB B8 = (17 - 1.30-02)

2 Gt OBEE UGar)  ALET B IR/ 113k #

] RRREZEREAKEE (RA7—) BHEL TWDTed | BEIEIT,

3 PiELY BHIHOER o ER31E3HII6H

4 AFLEITH (5GP FRE304FE11H12H (BB AFLV AT L)

5 AL CGEKI) 444 4 6,717,600 (BiiA %)

6 WALE (B UIATR]) AV IR T 72T 4 — AR

KES ATl RERTH R R KE BL S T DY K E BT993%
7 TIEMIS 4> 8,532,000 (BiiA %)
8 Il FRAMmAS 4 —
9 AFLFE DO EIO AFLEHH (Bt )
A K EF 4 5 1[a] AFLA KA 5 2la] AFLAKE f o om
(") (")
FV D 2T NT o — AR 6,220,000 &FL (78.73%)
Ay F5 12,800,000
BRI 10,399,000 ?/
RS R A R il 10,755,000
oA AL — FEIR
PIF4&H
fife A
=1 o5 [t N == =
e % ATERR B 1T EG




